
SAP ABAP table JHVAGVX {Generated Table for View}

JHVAGVX

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

GRUPPABRNR [NUMC (3)]

VNR [CHAR (10)]

BEDNR [NUMC (6)]

PROVTYP [CHAR (1)]

VZUONR [NUMC (2)]

FKBEL [CHAR (10)]

FKPOS [NUMC (6)]

POOLNR [CHAR (6)]

EKORG [CHAR (4)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

VGRUP [CHAR (6)]

PROSL [CHAR (5)]

BEDGR [CHAR (2)]

JVERMART [CHAR (2)]

REF_VBELN [CHAR (10)]

REF_POSNR [NUMC (6)]

JHAGA

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

GRUPPABRNR [NUMC (3)]

 JHVAGVX-GRUPPABRNR = JHAGA-GRUPPABRNR 
0..N

1

JHAGVZ

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

GRUPPABRNR [NUMC (3)]

VNR [CHAR (10)]

BEDNR [NUMC (6)]

PROVTYP [CHAR (1)]

VZUONR [NUMC (2)]

 JHVAGVX-PROVTYP = JHAGVZ-PROVTYP 
0..N

1

 JHVAGVX-VZUONR = JHAGVZ-VZUONR 0..N

1

JHAK

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

 JHVAGVX-AVM_NR = JHAK-AVM_NR 
0..N

1

JHAP

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

 JHVAGVX-POS_NR = JHAP-POS_NR 
0..N

1

JHTFK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 JHVAGVX-FKBEL = JHTFK-VBELN 

0..N

{0,1}

 JHVAGVX-REF_VBELN = JHTFK-VBELN 0..N

{0,1}

JHTFP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 JHVAGVX-FKPOS = JHTFP-POSNR 
0..N

{0,1}  JHVAGVX-REF_POSNR = JHTFP-POSNR 0..N

{0,1}
JJTPO

MANDT [CLNT (3)]

POOLNR [CHAR (6)]

 JHVAGVX-POOLNR = JJTPO-POOLNR 
0..N{0,1}

JJTVB

MANDT [CLNT (3)]

VNR [CHAR (10)]

BEDNR [NUMC (6)]

 JHVAGVX-BEDNR = JJTVB-BEDNR 

0..N

1

T000

MANDT [CLNT (3)]

 JHVAGVX-MANDT = T000-MANDT 

0..N

1

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 JHVAGVX-EKORG = T024E-EKORG 

0..N

1

TJH23

MANDT [CLNT (3)]

PRSCHL [CHAR (5)]

 JHVAGVX-PROSL = TJH23-PRSCHL 

0..N

1

TJJ09

MANDT [CLNT (3)]

JVERMART [CHAR (2)]

 JHVAGVX-JVERMART = TJJ09-JVERMART 

0..N

1

TJJ77

MANDT [CLNT (3)]

BEDGR [CHAR (2)]

 JHVAGVX-BEDGR = TJJ77-BEDGR 

0..N

1

TJJV1

MANDT [CLNT (3)]

VGRUP [CHAR (6)]

 JHVAGVX-VGRUP = TJJV1-VGRUP 

0..N

1

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 JHVAGVX-VKBUR = TVBUR-VKBUR 

0..N

{0,1}

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 JHVAGVX-VKGRP = TVBVK-VKGRP 

0..N

1


